Free Multiplication 0-12

Flash Cards (Duplex O X 11 —

Print, No Answers)

O0x0= 1x1=
O0X2= 1 X3 =
4x0 = bX1l=
O0X6= 1 X7 =

3 X0 = Ox 1=




O 1 O —_ Courtesy of
X - Memory-Improvement-Tips.com

12 x0 = 1 x0=
2X1= O0X3=
1x4-= 5X0=
oX1-= OX 7=

1 x8= Ox0=




10x 1 = 12 x2 =

1x12 = 3X4-=
3X2= O0X3=
2 X5 = 3X8=
[ X2 = 10x 3 =

2 X9 = 3Xx 12 =




11 x 2 = 1x11 =

3X3= 2 X2 =
bX3= 4X 2=
3X /= 2 X0 =
OX3= 8X2=

3x 11 = 2 X 10 =




4 X4 = Ox5=

4 X6 = 5x11=
8X4= OX0=
4 x 10 = 0X8=
12 x4 = 10X 6 =

bXx5= OoX 12 =




5x 8= 4 x5 =
10 x5 = 7 X4 =
b X 12 = 4XxX9=
OX /7= 11 x4 =
OX06= DXD=
6x11 = 7 X5 =




X[ = 11 x9 =
OX 7 = 10 x 10 =
7 x11 = 10 x 12 =
8X8= 12 x 11 =
10x 8= Multipliod are Faciors
12 x 8 = Commutative

3x5=5x3



10 x 9 = /X 8=
Ox12= 10X 7 =
11 x 10 = [/ X12 =
11 x 11 = 8 X9 =
12 x 12 = 11 x 8 =
Result of
Multiplication is the Ox9 =
Product




